RERERREFOH

FALHIE )
P2 841041 9H

a3

TR274%98 TRi28498 B
EF 6,037 6,003 -34
HIBERNDOEREMEEFHR g 4,244 4,251 7
B 4,237 4,270 33
& 52 95 95 0
2 B P 730 721 -9
it 825 816 -9
i m R 23 23 0
B AT 8 8 0
2 B P 555 555 0
&t 586 586 0
598 603 5
& f5e 93 93 0
2 % P 730 714 -16
it 823 807 -16
i m R 23 23 0
% B335l 16 12 -4
2 B P 592 591 -1
it 631 626 -5
573 575 2
& 52 70 69 -1
2 & P 636 628 -8
&t 706 697 -9
i wm R 21 20 -1
= | BERR 7 8 1
il 449 452 3
&t 477 480 3
531 530 -1
& f52 141 140 -1
2 & P 1,380 1,396 16
EL 1,521 1,536 15
i wm IR 32 32 0
= | BERR 13 12 -1
il 1,051 1,060 9
it 1,096 1,104 8
1,098 1,113 15
& 52 68 68 0
2 % P 760 758 -2
it 828 826 -2
i wm IR 17 17 0
B AT 9 9 0
il 484 486 2
EL 510 512 2
563 569 6
& 52 133 134 1
2 % P 1,201 1,187 -14
it 1,334 1,321 -13
i wm IR 34 34 0
% B335l 21 23 2
il 889 886 -3
it 944 943 -1
874 880 6




RIRERMEIF ORISR (FRR27F10A ~ F/285F9A)

[EFR]

27.10A|27.11A|27.128(28.1A (2828 |28.38 | 28.48 | 285H |28.6 H|28.7H|288A [289A| &
CES 3 3 2 0 4 0 1 1 2 2 0 0 18
=5F 2 3 1 3 2 3 3 4 2 1 6 32
= 6 2 4 16 5 5 10 5 6 10 3 5 77
FhH 5 2 0 3 3 2 2 0 1 1 2 1 22
11} 3 1 0 1 2 1 0 0 2 2 1 0 13
RS 1 9 3 3 2 1 4 5 1 4 1 2 36
H 20 20 10 26 18 12 20 15 14 20 9 14| 198
(e&#)

27.10A|27.11A|27.128(28.1A (2828 |28.38 | 28.48 | 285H |28.6 H|28.7H |288A [289A| &
CES 3 0 2 4 1 0 1 1 3 0 0 0 15
=F 3 1 1 0 0 5 1 1 1 1 16
= 2 3 7 4 1 1 8 2 3 8 4 3 46
FhH 2 0 0 2 1 0 0 1 0 1 2 0 9
11} 1 0 0 2 3 1 2 5 0 3 1 1 19
RS 1 1 2 0 1 0 4 1 3 1 2 3 19
H 11 7 12 13 7 2 20 11 10 14 9 8| 124
€35)

27.10A|27.11A|27.128(28.1A (2828 |28.38 | 28.48 |285H |28.6 H|28.7H|288HA [289A| &
CES 3 11 1 1 3 0 2 2 3 1 0 0 27
=F 2 12 1 1 3 1 1 4 3 3 4 4 39
= 9 21 5 6 2 4 10 3 7 11 8 4 90
FhH 4 6 3 0 2 1 3 0 3 1 1 1 25
11} 5 23 1 1 1 1 8 1 3 5 4 55
25 2 13 6 4 1 1 2 2 2 4 0 3 40
H 25 86 17 13 12 8 26 12 21 25 15 16| 276




RIRERMEIF O EEFTH N (FR27F10A ~ F/28F9A)

[EFR]

27.108|27.118(27.12R|28.18|282A |28.3A [28.4H | 2858 |28.6 A [28.7H |28.8A |289A| &
CES 6 3 14 11 8 10 22 17 22 11 4 23| 151
=5F 4 2 13 12 8 13 18 19 9 12 12 14| 136
= 3 3 14 54 9 14 35 13 13 64 15 17| 254
FH 6 4 15 11 10 5 20 19 13 13 11 15| 142
11} 10 1 11 11 5 7 43 20 11 5 16 9| 149
=S 21 6 14 20 9 10 70 17 7 10 10 26| 220
H 50 19 81| 119 49 59| 208| 105 75| 115 68| 104 1052
(e&#)

27.108|27.118(27.12R|28.18|282A |28.3A [28.4H | 2858 |28.6 A [28.7H |28.8A |289A| &
CES 2 10 12 3 3 5 13 10 14 16 17 1| 116
=5F 4 5 8 10 1 6 25 14 10 9 12 12| 116
= 6 7 12 26 9 7 40 22 20 25 17 21| 212
FhH 3 3 10 6 4 7 12 6 7 13 4 6 81
11} 0 2 11 4 7 3 23 12 15 11 7 8| 103
25 5 5 12 24 4 15 38 26 18 16 16 15| 194
H 20 32 65 73 28 43| 151 90 84 90 73 73| 822
€35)

27.108|27.118(27.12R|28.18|282A |283A (28.4H | 2858 |28.6 A [28.7H |28.8A |289A| &
CES 7 3 12 4 5 5 10 9 8 8 5 17 93
=F 4 5 2 11 5 3 10 13 5 8 6 4 76
= 6 10 12 9 9 13 28 9 12 17 11 19| 155
FhH 3 2 8 6 3 11 11 13 9 11 10 8 95
11} 10 6 6 11 4 8 11 6 4 5 2 7 80
=5 10 9 13 12 11 12 32 6 12 11 7 16| 151
H 40 35 53 53 37 52| 102 56 50 60 41 71| 650




RIRERMEFDHEEDEERVRIREFDOEEZGDEUHIZ OV T(R A

(E#] (H24.4~H28.9)
RIREREES (BUAHES) RIREZ (BUHMESD)
S 0 0
=F 0 0
= 2 (1) 2
*H 1 1
7 0 0
= 1 0
& 4 (1) 3
(57%t)
RIREREEF (BUEHES) RIRES (BUEME D)
F&H 1.(1) 2
=F 1 1
= 6 (2) 5
R H 0 0
L7 2 2
S 4(2) 2 (1)
& 14 (5) 12 (1)
€35)
RIREREES (AUAHES) RIEEZ (BUHMESD)
S 0 0
=F 33) 0
= 1 0
*E 0 0
7 0 0
S 0 0
& 4 (3) 0




REBERNBEERDOZFEREOIFLOHILITONTRAD)

(H24.4~H28.9)

ZEZEOBKV O LE (FIEEY)

GEo 4 (3)
=F 0
= 2(2)
A 2(2)
7 0
= 1

9 (7




(%)

LEDOEEHBEFOH TRk 264F10 5

E R & R R %K 2E B 5 2E

£E

108,954 100% 68,592 100% 57,784 100%
RILERNDERBBEFOH T R284E9 A

E R # =) R R %K 2E ZHE &
CES 816 0.75% 586 0.85% 603 1.04%
=F 807 0.74% 626 0.91% 575 1.00%
FhH 697 0.64% 480 0.70% 530 0.92%
=I5 1,536 1.41% 1,104 1.61% 1,113 1.93%
L2 826 0.76% 512 0.75% 569 0.98%
=S 1,321 1.21% 943 1.37% 880 1.52%




